ERSEAROBHREERT —IR—BISH—F 2023488308 (K) 6EIEFI3E

IV 7 4R B3C1 USHR—ig BRI
[AXE%) 1 %:2,700,000  ~ 23#&:1,080,000 337%&:675,000H . 4 3&:405,000 H 5 3&:270,000 /9
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
o s S : -5-3- 9] - EHE (118
1l ZT=wzro—n €6 | @i 2.(1_1).4 5-5-3-1 | 39.9 4 (4:330) Fdsi
RFWTT—II B:F—RUT VT HESH SHEI7—L
UVITATA % 4 ?“ﬁ# 2:(162).7 4-4-2-3 |41.6| — 1 (4_73 ffé:%%g (H618)
R:PIPITRATUVRA B:IRTIL WWH B&=
e . RATTHIEL : 76 - B GEf)
IF =TT #0518 Gp | T e > & | mower
Rih—tYY3I—FY BFRIAVETFSY it s
S5 5 o4 | IR 2:13.3 6-6-5-5 |41.4| — 6 | 498 | LEkfgE (&)
20/597) 55.0 a1/ (a) | EEBIE
RYRNITSYY BFIINTF—L THEE
o 4 | PERE 2:13.4 1-1-1-2 | 43.5| — 3 | 479 |INERR GET)
I—-RR/IS—=TI "4 ) o | @ F—k-1-2
REVFOVY BII-RI A WHE 8%
© Sy o~ 5 | BHEiR 2:15.2 3246 |44.5| - 2 | 411 | AIREE GREFD)
6l5|5 | A—U—Nvoay e 55.0 ©) (g | ZW—ITOR @)
R:W—>—YvF B:NvyavlbyR TEHBUS
N S a {REMH :20. -3-7- 3] - AR BT
717|7 |vF VeI 58S s B TS s
R:Iv IRy & B:hFYD S NF OIS
@ 1—F—&RIEL
13—7F— 3,7,5,2,1,4,6
20—F— 3,5,7.2,1,4,6
30—— 3,2,1,5,4,6,7
Mal=5r= 1,3,2,6,4,5,7
o ILRE
BB 1 1,030 | | 94 R 1-2 300 B & 1-2 1,230M 3EE 1-2-6 3,080M
B B 1 370 1-6 1,150M4 =51 1-2 3,180M 3EH 1-2-6 20,9504
2 1409 2-6 400M

ABIC OV TRUTEREERRODDZE. THRIIZEL.




